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je Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 2/64
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je Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 3/64
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je Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 4/64
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je Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 5/64
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je Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 6/64
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je Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 7/64
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je Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 8/64
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je Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 9/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 10/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 11/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 12/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 13/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 14/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 15/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 16/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 17/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 18/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 19/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 20/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 21/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 22/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 23/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 24/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 25/64

Complementary Sequence
N

Direct Sequence
A

10

0.5

0.0
1.0

0.5

0.0
1.0

0.5

. 0.0

1.0

0.5

0.0
1.0

0.5

0.0

0.5

0.0

101

) 48800 49200 49600 50000 50400
l et Hih 145 e B T B B e T B B 5 b = b Hey by b
\ [ l |, L [ \ | L [ \ \ \
) 48800 49200 49600 50000 50400
B Coo B B N TN oo o R
\ | | | |, | | \ | L1 \ \ \
) 48800 49200 49600 50000 50400
B e I T h P o7 At P IR Y Il
\ [ l |, L [ \ | L [ \ \ \
) 48800 49200 49600 50000 50400
R e [ Py /) e I Feorr
\ | | | |, | | \ | L1 \ \ \
48800 49200 49600 50000 50400
] I [ P — Il [ i —
\ [ | |, L [ \ |, L [ \ \ \
48800 49200 49600 50000 50400

Nucleotide Position



> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 26/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 27/64

Direct Sequence
A

Complementary Sequence
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 28/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 29/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 30/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 31/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 32/64

Direct Sequence
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Complementary Sequence
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Nucleotide Position



> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 33/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 34/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 35/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 36/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 37/64

Direct Sequence
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Complementary Sequence
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 38/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 39/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 40/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 41/64
4

1.0
O5F wivim Yt——— 1 | — 4, = ! — . e o ! P s o B
0.0 \ I [ \ \ [ | [ | [, \ [ | | L
1'0 ) 82800 83200 83600 84000 84400
()
o
c
(]
=
$< 05 I T o ‘ ! LR R B B N e T B
©
g
5
0.0 \ | [ \ \ [ J [ | [, \ [ | L
1'0 ) 82800 83200 83600 84000 84400
osF—+—"%~ 5 — | 11 I H = o U
00 | | | \ \ || l | | | |, | \ | | | L
> 1'0 ) 82800 83200 83600 84000 84400
O5F 1 + 11 1 [ — 1 I =rom oo — —
0.0 \ | [ \ \ [ J [ | [, \ [ | L
o 1'0 ) 82800 83200 83600 84000 84400
% .
=]
oy
)
n
P
S< 051 I I Lo — —dy — b b TR
@
e
Q
o
£ 0.0 | | | \ \ || l | | | |, | \ | | | L
o 1'0 ) 82800 83200 83600 84000 84400
05 — [T — 1 o [ N P
0.0 \ I [ \ \ [ | [ | [, \ [ | | L
\ .
82800 83200 83600 84000 84400

Nucleotide Position



> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 42/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 43/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 44/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 45/64

10

0.5

0.0
1.0

0.5

Direct Sequence
A

0.0
1.0

0.5

. 0.0

1.0

0.5

0.0
1.0

0.5

0.0
1.0

Complementary Sequence
N

0.5

EE— Pt 59 1 b e A IR T — I
\ \ L | [ \ \ [ | [ | | \ \

) 91200 91600 92000 92400 92800

roon b i o il TR B B B B =4 5= 4
\ \ L | | \ \ [ J [ | | \ \

) 91200 91600 92000 92400 92800

S — e [ e B I e Y I T e e B e e B B N B I
\ \ | | [ \ \ || l | . | | |, | \ \

) 91200 91600 92000 92400 92800

P P [ Loy — b o
\ \ L | | \ \ [ J [ | | \ \

) 91200 91600 92000 92400 92800

B 1 = L b — i T
\ \ | | [ \ \ || l | . | | |, | \ \

) 91200 91600 92000 92400 92800

Foto o o i Is ol
\ \ L | [ \ \ [ | [ | | \ \

91200 91600 92000 92400 92800

Nucleotide Position



> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 46/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 47/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 48/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 49/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 50/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 51/64
4

1.0
O5F i1 Yo NI R T T T A (| S e B 9
0.0 \ L[ [ \ \ L | [ \ \ [ | [ | .
1'01:03600 104000 104400 104800 105200 105600

()

o

c

(]

>

(o

(%< 05 L L1 w1l ! \_A_‘ | 1 L L1l HL\ L1 ‘M | ! l—H L L1 L ‘h : L L L |

©

g

5 /\
0.0 \ L[ [ \ \ L | [ \ \ [ J [ | .
1'01:03600 104000 104400 104800 105200 105600
05— 4 —Ht, - : o g ey — ! TR [
00 \ L1 | ] \ \ | | | ] \ \ || l | . |

> 1'0@03600 104000 104400 104800 105200 105600

0.5 : — L : — P — S
0.0 \ L[l [ \ \ L | [ \ \ [ J [ | .

o 1'01:03600 104000 104400 104800 105200 105600

% .

=]

oy

)

n

P

Q< 0.5 Cor ' ' r I e — —

@

e

Q

o

£ 0.0— L1 | ] \ \ | | | ] \ \ || l | . |

o 1'0 103600 104000 104400 104800 105200 105600
05" + A+ e I e I e T I 1
0.0 \ L[ [ \ \ L | [ \ \ [ | [ | .

~ 77103600 104000 104400 104800 105200 105600

Nucleotide Position



> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 52/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 53/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 54/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 55/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 56/64

10

0.5

0.0
1.0

0.5

Direct Sequence
A

0.0
1.0

0.5

. 0.0

1.0

0.5

0.0
1.0

0.5

0.0
1.0

Complementary Sequence
N

0.5

Nucleotide Position

Mo et 5 e e Tl i e e B ! R
| a | | \ [ | | L [ \ \ | L
) 11440 114800 115200 115600 116000
e T e e b e e ] [ S oy
| a | | \ [ l | L [ \ \ | L
) 11440 114800 115200 115600 11600
1 — 1 A= TR ! b ! = 1 e
\ i | | |, | \ | | | || | | \ \ |, | L
) 11440 114800 115200 115600 116000
Fe—— I 7 P = L o
| a | | \ [ l | L [ \ \ | L
) 11440 114800 115200 115600 11600
Ul 4 P i Nl et — [— o — e
\ i | | |, | \ | | | || | | \ \ |, | L
) 11440 114800 115200 115600 116000
— b T i R R e e N T e e o IRNTAR —r
| a | | \ [ | | L [ \ \ | L
11440 114800 115200 115600 116000



> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 57/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 58/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 59/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 60/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 61/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 62/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 63/64
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> Bordeaux complete sequence, 131317 bp including 12579 bp terminal repeat, Cluster BE2, Order 4, Window 96, Step 12, 64/64
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